Circuit’s symbol:
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Circuit 1A: Let’s deduce the output P = f(S1, SO, A, B) = ((A-B) + (SO' + A")" )" - (51 + SO' + B') - (S1-SO"-A'-B')'

WolframAlpha:

truth table ( not( A and B or not( not(S0) or not(A) ) ) ) and( S1 or not(S0) or not(B)) and (not( S1 and not(S0) and
not(A) and not(B) ))

Equations and interpretation:


http://www.wolframalpha.com/
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In order to write down the minterms or maxterms, let’s order the variables as P = f(S1, SO, A, B), so:

P =7SL50.4.8) = HM (35,6,7811,14,15) = Zm(0,1,2,4,9,10,12,13)
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